A9 —h/)UBERS

INSERT NOZZLES ~ No.E-9991BE

K& FEI—IL SR - R—IL:SUS303
BXEA) IMPa  ([@#EE) 70C  ([Bfd5E) MY
QA DA E(CHRISAI N TE WP BE~DT SN B

Ft Ao

O /X DAEENAE—T 1 —([CEZSNFT,

3 35 ST
%E SBTHY m
\\ / @] STHY I Q
- — - inl
) W
om
u ay H
\ / Ny @
OF
oA J Z)Feimh = I (EE)
& A TFLU—FvPPFi—7
ERURFBCENTEET,
WLag - ffsx * [EELER
+—5"—No. No. A B C D E F HiBg FEIE
1~9f@  10f@E
#970103 | BE10-1 10 7.4 1.3 15 2.8 5.1 2.5 3,390 3,070
%970104 | BE12-1 12 8.6 15 15 4.1 6.4 25 3,390 = 3,070
%970105 | BE14-1 14 1.2 1.3 15 4.1 6.4 5 3,390 = 3,070
%970106 | BE15-1 15 11.9 1.8 15 4.1 6.4 5 3390 3,070
i % 123200 | BE18-1 18 14.9 15 3 4.1 7.8 8 4,490 = 4,030
2 % 123202 | BE22-1 22 18.1 2.1 3.2 5.6 9.4 13 4,490 4,030
i %108261 | BE10-2 10 75 1.4 17  M35x06 5.1 2.5 4,030 @ 3,620
- %108262 | BE12:2 12 87 15 2 M4 x0.7 64 25 | 4030 3,620
#108263 | BE14-2 14 11.2 1.4 2 M4 x07. 6.4 5 4,030 = 3,620
% 108264 | BE15-2 15 12 16 2 M4 x07 6.4 5 4,030 3,620
% 123201 | BE18-2 18 14.9 15 3 M5 x0.8 7.8 8 5250 4,710
% 123203 | BE22-2 22 18 2.1 32 M6 xI 9.4 13 5250 4,710
BT TA WETT R ER
No. AH9 : B C D 90°
BE10-1 10%5%° 5.2 9 13
BE12-1 | 12%5% 6.3 10 13
BE14-1 | 14739 7 11 13
BE15-1 | 1590+ 7.5 1.5 13
BE18-1 | 1873% 9 13 13 D ‘
BE22-1 | 2273%? 11 15 13
BE10-2 | 10%3%" 5.2 9 13 ® %
BE12-2 | 1273% 6.3 10 13
BE14-2 | 14%5% 7 11 13
BE15-2 | 157394 75 11.5 13 J
BE18-2 | 1875 9 13 13 %
BE22-2 | 22'6%? 11 15 13 DAD2/3UT
SINCE 1560
962 CADF—959y0—K - EERAE Web ¥ bT! [ 7~V \ Gi\ NABEYA co. L.
FriendsNo.219/2022. 1 124ERR






